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2018
INDUSTRIAL ENGINEERING
fruiha s fia =) ; [3Tferehaw 37 : 70
Time allowed : Three Hours] , [Maximum Marks : 70

B () FUH Y HAGE 8, 9 7 G 57 g & IR 7 |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) HeIF F97 & G} YT F) FHAR O GrY 5 B |

Solve all parts of a question consecutively together.
(iii) A% J¥T H 79 Y8 G IRE Hor2 /|

Start each question on fresh page. :
(iv) &1 yTaT3T 7 3 g1 #1 [t 7 3 srgarg 8 a8 |

Only English version is valid in case of difference in both the languages.

1. () we-frRgfagwni e
What is break-even point ?
(ii)  TOTEIT S THHATE |
Explain quality.
(i) GARTC forg & oMY T WHIAA B ?
What do you mean by reorder point ?
(iv) TRy i qHesms |
Explain Amortization.
(v) W 9 i aieTiva $Hif |
Define standard time. (2%5)
(1 0f4) P.T.O.
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Wﬁﬁ%%laﬁmﬁmﬁwﬁﬁmmﬁ
qHgT |

Define Scheduling. Explain various factors affecting Scheduling.

firqerf smeRra Wi @ fore g o= v |

Derive formula for economic ordering quantity. s (6+6)

“frvegor oreran frifa w1 SER R |7 wE I |

“Inspection is a tool of quality control.” Explain.

ﬁnmaﬁmﬁm(m@m(maﬁmlmm—s
A,=0.58,D;=0,D, =2.11, YshH W HYA HIfT |

Draw mean (X) and Range (R) charts by the help of following data. Sample
size 5, A, =0.58,D; =0, D, =2.11. Comment on the process.

T & msir()‘() WH (R)
Sample No.  Mean (X) Range (R)

1 7.0 2

2 9.0 4

3 8.0 3

6.0 1

5 10.0 5 (6+6)
Tt =né =t 3grew Hfed wHEE |
Explain SIMO chart with an example.
foredi i Foomre farfertt =t wwesdt |
Explain any three rating technique. ; (6+6)

TR TS ! IS Al THSATFA Td §6 AW TG G [11aC |

Explain process type layout with an example and write its advantage and
- disadvantages.

39 =TS ) GHATSA | THeHT 1 TR ?

Explain travel chart. What is its use ? (6+6)



ME307/MP307 (3 of4)

6.

() Toraemt vere vewa & fagrl = gwes |

Explain principles of economic material landing.

(i) =EeR 7 6t HRTUTA B GhE T |

Explain working of wheeler crane with neat sketch.

(i) ThE fafy @ ga AR :
Solve by graphical method :

Maximise Z = 3x, +2x,

Subject to 2% 2y 22
x, + 2x2 <8
Xi Xy 2 0

(i) HoIBTE FTR ? TEh BRI ! U |

What is depreciation ? Explain its causes. -

o= 4 & fopedl <fim e st feoafora fofaw -
Write short notes on any three of the following :
() a8 IR

Flow diagram
(i) HRES AT

Work-station design

(iii) UL ATE
Belt Conveyor
(iv) HYE IeTeH
Batch Production
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(6+6)
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